CHESS     Sat   11  June  2005
                              David  Ellis   9276 1822  /  openfile@bigpond .com     2

If I asked which player, alive today, defeated 5 world champions starting with Lasker, very few would know the answer.  Andor Lilienthal, who was born in Moscow on May 5th 1911, recently celebrated his 94th bithday.  The world champions he defeated besides Lasker were Capablanca, Alekhine, Botvinnik & Smyslov.  At the age of two he moved with his family to Hungary and represented Hungary in 3 Olympiads.  Returning to Russia in 1939 he became USSR champion in 1940.  He was Smyslov’s second in his matches against Botvinnik and trainer of Petrosian (another world champion) from 1951-60.  Showing few signs of his age the sprightly Lilienthal still writes chess articles, drives a car and enjoys a drink & smoke.  He is even planning his 95th birthday celebrations!  Lilienthal, White v Capablanca (Hastings 1935) brings off a spectacular finish (7 moves):  
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Now the game against the latest of his world champion conquests:




Vasily  Smyslov  -  Andor Lilienthal




     Ruy Lopez:   Kuibyshev 1942



 1    e4  
e5  


 2    Nf3  
Nc6



 3    Bb5  
a6  


 4    Ba4 
Nf6  



 5    d3  
d6  


 6    c3  
Be7



 7    0-0  
0-0 


 8    Re1  
b5



 9    Bb3  
Na5  


10   Bc2  
c5



11   Nbd2  
Nc6 


12   Qe2  
Bb7



13   Nf1  
d5  


14   Ne3  
d4



15   Nf5  
Ne8  


16   Bb3  
Nd6



17   Bd5  
Nxf5 


18   Bxc6  
Bxc6



19   Nxe5  
Bb7 


20   exf5(a) 
dxc3



21   bxc3  
Re8  


22   Ng4  
Qd5



23   Ne3  
Qc6  


24   Bb2  
Bf6



25   Rad1  
Rad8  


26   d4  
c4(b)



27   Ba3  
a5  


28   Bc5  
b4



29   cxb  
axb 


30   Qg4  
h5!(c)  



31   Qh3
c3  


32   Nc2  
Qa4



33   Nxb4(d)  
c2  


34   Rxe8+  
Rxe8



35   Rf1  
Bg5  


36   Nd3  
Ba6



37   f4  
Bxf4!  


38   Nxf4(e)  
Bxf1



39   Qc3  
Qc4 


White resigns

a)  White has won a pawn but his position is passive while Black’s bishop pair excert strong pressure. 

b)  Establishing a threatening queenside majority (White’s passed d pawn is of little concern).

c)  Putting the queen out of play - 31 Qxh5? Rxe3!

d)  White is now 2 pawns up but he will be unable to cope with the passed c pawn.

e)  If  38 Rxf4, Bxd3 wins.

TILTING  AT  WINDMILLS.  Michael Adams, England’s top player, recently completed a rapid-play match against Peter Leko.  Leko, in front of his Hungarian supporters, started disastrously losing the first 3 games.  However he won the next three and the match finished 4-4 after 2 final draws.   Adams will shortly be facing an even more daunting opponent when he takes on Hydra, a multi million dollar machine, at Wembley, London, for prize money of US $150,000.  Hydra, developed in Abu Dhabi, has never lost to a human and can caculate at 200 million moves a second.  It is 10 years since machines started beating the best players in the world and 8 years since Kasparov lost his famous match to Deep Blue.    

SOLUTION:  1 exf6!! Qxc2  2 fxg7, Rg8  3 Nd4: Capablanca now played 3...Qe4 but conceded after 4 Rae1, Nc5  5 Rxe4+, Nxe4  6 Re1, Rxg7  7 Rxe4, Kd7. Had he played 3...Q moves (say ...Qd2) 4 Rfe1+, Ne5  5 Rxe5+, Kd7  6 Rd5+, Ke8  7 Re1+.

